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HSSC CET Group 57 Question

The Kandla port is lpcated in the
state of

(A) West Bengal
(C) Odisha
(E) Not attempted

(B) Maharastra
(D) Gujarat

What is a graph in C ?

(A) A visual representation of data
(B) A collection of nodes

(C) A mathematical formula % 1==E!
(D) A programming language e
(E) Not attempted

Mohinder ploughs a field in 6 days and
Ram ploughs the same field in 12 days.
How long both of them take to plough
the same field working together ?

(A) 4 days

(B) 5 days

(C) 3 days

{D) 3.5 days

(E}) Not attempted

Which bodystarted first radio
broadcasting in India in 1923 ?
(A) Radio Club of Bombay

(B) Radio Club of Madras

{C) Radio Club of Kolkata

(D) Radio Club of Delhi

(E) Not attempted

This pressure belt is also called as
‘Horse Latitudes’

(A) Sub-tropical high pressure belt
(B] Equatorial low pressure belt

(C) Polar high pressure belt

(D) Sub-polar low pressure belt

(E) Not attempted

Paper 18 Aug 2024 CG - CHS?24

1. “higen JeunR e u=r 1 fm 2 2

(A) UM EmE  (B) HEAE
(C) Jfsm AD) T
(E) 3w
2, CHMEFMETME ?
_4A) 2@ @ Ty weEh
(B) gy I WUE
(C) TIora <1 HA
(D) Tk ST Wl
(E) swgifaa
3. Hiffex % @d FI 6 fea # Siaar g 3Rk =

3¢t @a ®t 12 o7 § Sidar 8 1 g1 et
It @Wa # e # e Fma wd € 7

AA) 4 fe M- Lrez
(B) 5f R =12 i,
(c) 3
(D) 3.5 fe7
(E) 3w
4. 1923 # WA A g=9 gge ) vow feg
e 3 e femam o 7

(A) eat e 3TE afE -

5 (B) et wo9 31is Tgm
(D) feat g 31w foeedt
(E) 3aiaa

5. THIE & F g e ff wwr w2
(B) WeA W@ e zamm At A
(C) 9T 3= g et &
(D) S9-g=t 1 zame art oy
(E) 3ot
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6. Which of the following is the name of 6. foeaa 1 & T =1 A Fr=rferfan @ 1

Brahmaputra river in Tibet ? FR-TTe ?

(A) Jamuna (B) Tsang Po (A) ST (4E) T 0
(C) Sonaa (D) Sundari (c) FH (D) Hedl
(E] Not attempted (E)

c i 2 i 1 wa w ufonfia @ 6

7. Which keyword is used to define a 7.
fore g Frad w1 e R S 2 7

tagged structure in C ?

(A) struct LAT struct
(B) typedef (B) typedef
(C) union d “E! (C) union
(D) enum EE (D) enum
(E) Not attempted (E) TwaTiéa
8. Hawa Singh won the Asian Games g. walfagd frfafiaa # 9 fFe @@ ® 1966
gold medal in consecutive editions of 3fit 1970 3 wHire Ghwil § L ERE
oL U i - SR
(A) Weight lifting (B) Boxing (a) e (B) gEha
(C) Running (D) Badminton (C) g (D) e
(E) Not attempted (E) 3ToiEa
9. What is Project Haryali ? 9. gw@el gfEe F I # ?

(A) Drip Irrigation Project (A) 29 fq=nd wicem
(B) Watershed Development Project (B) arere fawm gfE=mn
(C) Forest Cover Improvement Project €] T HATEWT U g
(D) Western Ghat Protection Project (D) afrdft &g waor af@sA
(E) Not attempted (E) Fyarfaa

10. A train 375 m long takes 30 seconds | 10. 375 it @lt TH TEFTEl T @Y I 4R
to cross a pole. Find the speed of the F H 30 e F1 G099 wdl & | temdt
train in kilometer per hour. wfe fereimiter wfa we o ﬁﬁqﬁ@‘l |
(A) 45 km/hr - LI 45 Pt iz :Ejix-"—”lj
(B) 44 km/hr (B) 44 Reh /g 37 =
(C) 46 km/hr woll (C) 46 Ferelt /s
(D) None of these ok{o (D) 378 & +1E T
(E) Not attempted (E) aryafia
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11.

12.

13.

14,

15.

A number series with one t n to

is given. Choose the correct optio
complete the series.

20, 19, 17,7, 10, 5

(A) 12

(B) 13

(C) 14

(D) 15

(E) Not attempted

Which of the following is known as
‘Fruit Bowl' of India ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Orissa

(E) Not attempted

EHE
If the letters of the word

BOMBARDMENT are arranged in
alphabetical order, then how many
letters will remain in the same

position ?
(A) O (B) 3
(C) 2 (D) 1

(E) Not attempted

National Botanical Research Institute
is located at

(A) New Delhi

(B) Bangalore

(C) Chennai

(D) Lucknow

(E) Not attempted

Which of the following is a logical
bitwise operator ?

(A) *
(C) &

(B) /
(D) +

v wen sjaen §) w2, f v e
mgﬁqu—* =¥

20, 19, 17,7, 10, 5

(A) 12

(B) 13

e 14

(D) 15

(E) v

12, Frfefiaa § @ f6d wra &1 ‘Sef o
FHAU' FE AT B ?
(A) 7eF wem
(B) 3% Sq@
4€) Temrae wem
(D) e
(E) 3mvanfaa

AB ﬁ.{]EHﬂ facT

11.

(E) Not attempted

13. 7fe M5 BOMBARDMENT % 31z &)
iR # e 9T dt e 31 @ En
AYTEd @MW 7
(A) O (B) 3
(C) 2 AD) 1
(E) A5t

14. TR SFeafa sTgaum deam fm 2
A T et
(B) Ereint
(C) ¥=8
(D) TE r -
(E) 3rwanfea i
| =
15. ﬁmﬁﬂﬁ-maﬁwm
AT R ? .

- P

. (C) & (D) +
(E) 3wafyq
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16.

17.

18.

19.

The angle of depression of an object
from a tower of height 150 m is 30°. The
distance of the object from tower is

(A) 5043m
(B) 10043m
(C) 150+/3m

(D) None of these
(E) Not attempted

What percentage of rural consumer’s
income is spent on groceries ?

(A) 10%
(B) 45%
(C) 62%
(D) 27%
(E) Not attempted

Which of the following company is
launched Shagun-Gift an insurance
policy ?

(A) LIC

(B) ICICI Life Insurance

(C) SBI General Insurance

(D) TATA General Insurance

(E) Not attempted

Complete the following series.
BV, CU, ES, HP, LL, QG,
(A) VB (B) WB

(C) WA (D} VC ’ 50

(E) Not attempted EWE

What does TTL stands for ?

(A) Transistor Timing Logic
(B) Transistor-Tuned Logic

(C) Transistor-Transistor Level

4P| Transistor-Transistor Logic

(E) Not attempted

S

CG - CHS24

16. 150 ¥ I¥aTs AT TF T H T T Hi
ST Fm 30° B | TR H g R h
FR 7
(A) 503 HI
(B) 10043 #HiXX
[c', 150 NER:IrA
| &8 T
[E'_l mlfm

areftor IgTEraT <Rt 31 @ R wfoee
frT 3 AWE T E@E Bl 7

(A) 10%

(B) 45%

(C) 62%
o) 27%

(E) 3Tt

18. Prfafee # & fra o 3 wRE-fre
e witere i il ® 7
(AT LIC
(B) ICICI TTE% 9aIH
(C) SBI 9« $¥4IH
(D) TATA (e $TAIH
(E) 3rwfEa

Fr=fefaa gaen o = |

BV, CU, ES, HP, LL, QG, W

(A) VB (B) WB
—HET WA (D) VC

(E) 3Twafaa

17.

19.

e 1w 3 R 7

(A) gifse 2refim =it
(B) TR~ wih
() Tifrr—gifaet o«
) eifrer -zt St
(E) 3twnfaa
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21.

22.

23.

24,

25.

A series has been given. Choose the
correct option for missing term to
complete the series.

KMS, 1P8, GS11, EV14, ?

(A) BX17 (B) BY17
(C) CY18 (D) CY17 _ “E!
(E) Not attempted EHE

What is the maximum validity of
Learners Licence in India ?

(A) 6 Months

(B) 3 Months

(C) 1 Year

(D) None of the above

(E) Not attempted

Three vertices of a parallelogram are
(1, 3), (2, 0) and (5, 1). Its fourth vertex is
(A) (3, 3) (B) (4, 4)

(€) (4,0 (D) (0, -4)

(E) Not attempted

Which of the following is concerned
with the quantum and frequency of
income receipt of rural people ?

(A) Product Mix

(B) Distribution Mix

(C) Promotion Mix

(D) Price Mix

(E) Not attempted

If a man were to sell his hand cart for
T 720, he would loss 25%. What must
be the selling price if he were to gain
25% ?

(A) T 1,000

(C) T 1,300

(E) Not attempted

(B) T 1,200
(D) 1,400

CG—CHEQ:;
21. ‘I‘E’iﬁw?ﬁ"ﬁ?l’iﬁmiﬁl'{nmﬁ%
%Qqqqﬁﬁifﬁqﬂﬁfﬂiﬁmﬁhm
KMS, IP8, GS11, EV14, pC ¥ 17
(A) BX17 (B) BY17
(C) CcY18 AD) CY17
(E) 3msafia
22. wra A o wrgdy o sfrmay A
R 7
AT 6 TER
(B) 3 &M
(C) 1 =
(D) 39w § & +rE 78
(E) 3twanfia

23. UF wul Iqu+ & ofl ofid (1, 3), (2, o)
IR (5, 1) ¥ | Hwr <o oid T 2 -

zm (A) (3, 3) (B) (4, 4)
gﬁ (©) (4, 0) (D) (0, -4)
(E) Fwanfaa

24. Tafafes 4 & =9 aofiv & 6 am
wifed <6t W 3R angfh & gefa R 2
(A) Fearg Tz
B faaror frzo
(C) W= firgror
(D) ¥ Tz -
(E) 3TEmtea

e v =afeq g1 3o T 720 6 99 A1
25% <hl g1 Bt | afe 3§ 25% &1 @™
Bt fosra weg @ Bt 7
(A) T 1,000 \UB}T 1,200
(€) 1,300 (D) ¥ 1,400
(E) stanféa quo 5
380 x5
5y

25.

b

(40 @
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26. The first newspaper in India
was introduced by the name
(A) Kesar
(B) Samachar Darpan
(C) The Bengal Gazette
(D) Bombay Chronicle
(E) Not attempted

What are the factors influencing Rural
consumer Behavior ?

27.

(A) Environmental Factors
(B) Psychological Factors
(C) Cultural Factors

(D) All of the above

(E) Not attempted

28. Which of the followingis direct selection

operator in C ?
(A) dot(.)
(B) commal(,)
(C) colon(:)
P} semicolon(;)
(E) Not attempted

E£E

29, In a certain code, RAIN is written as

8 $ % 6 and MORE is written as

7 # 8 @. How is REMAIN written in
that code ?
A) #@7$%6

B) #@& $% 6
C) 7T@#$%6
D)8@7$%6
(E) Not attempted

CG - CHS24

6. Wi i g WOTER T fRE AW H o

ag. C i frafafiga § 4 #1F sae o
R B ?
(A) BTe(.)
(B) =Hr(,)
(C) IeH(:)
L) BefienieH(;)
(E) 3Twnted

20. UF faftr Frs 1 RAIN F1 8 § % 6 feman
s & 3R MORE ®t 7 # 8 @ foran
T & | 39 $12 § REMAIN &1 HH
feren smem 7
A) #¥@7$%6
B) # @& $ % 6
C)T@#$%6

P 8@7$%6
(E) st
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30.

31.

32,

33.

34.

Rajasthan has its High Court (principal
scat) at

(A) Jodhpur

(B] Udaipur

(C) Jaiselmer

(D) None of the above
(E) Not attempted

Which is the capital city of Manipur ?
(A) Shillong (B) Imphal

(C) Silvassa (D) Kavaratti

(E) Not attempted

What is recursion in computer

programming ?

(A) A loop that repeats a block of
code until a condition is met

(B) A function that calls itself

(C) A process of breaking down
a problem into smaller
subproblems

(D) A way to optimize code for faster
execution

(E) Not attempted

Pick the odd one out.
(A) Just (B) Fair

(C) Equitable (D) Biased [@gMmE]
(E) Not attempted ﬁ&
The discriminant of the quadratic
equation 2x* - 6x-3 =0 is

(A) 60
(B) V60 "—f
C) 12 f =
D) V12

(E) Not attempted

CG - CHﬂzq

30. TIHF W I e (T 1) 7
,JMGﬁUH{

(B) Iz
(C) Jgein

(D) 377 ¥ & =ré T8
(E) 3rvanfaa

31. ARG 1 YR R AT R
(A) frerm B 35ET
(C) Toearar (D) =T
(E) 37vranfye

32. SR Wmfim # frrd w BT R 7
) Toreht v =it 7t 87 7 v qm g
HNE F UF = I SRTEl
EIEE (B) UF S99 S e Y Hiet Hear
22 () v wwen ) B/ Iy-gwensit i
e 6t whEm
(D) a5t & Froures & fore wre =y
IAFIeTa F 1 T Al
(E) 3Twrnfid

firr g 9fm |

(A) =g (B) freag
(C) =amgifem By gearet
(E) 3Tafea

feama wfiar 2x2 - 6x - 3 = 0 =1 fyides
e 7

33.

34.

(A) 60

(B) V60
(C) 12

(D) V12
(E) 3warfaq
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35.

37.

Kunal walks 10 km towards north.
from there, he walks 6 km towards
south. Then, he walks 3 km towards
cast. How far and in which direction is
he with respect to the starting point ?
(A) 5 km, West

(B) 5 km, North East

(C) 7 km, East

D) 5 km, South West

(E) Not attempted

which of the followingis /are Marketing
strategy available for Rural Market ?
(A) Promotion Strategies

(B) Product Strategies

(C) Price Strategies

(D) All of the above

(E) Not attempted

According to the 2011 Census of India,
which of the following states has a
population density of 17 persons per

sq. km. ?
(A) Bihar
(B) Uttar Pradesh ELE
(C) Arunachal Pradesh ij.: i

(D) Sikkim
(E) Not attempted

Kalaam-e-Nairang is a compilation of
poetry written by

(A) Syed Ghulam Bhik

(B) Murari Lal Sharma

(C) Allama Muhammad Igbal

(D) Altaf Hussain Hali

(E) Not attempted

CG - CHS824

35, Wamaﬁlaiﬂ 10 fah == B | =@
3 = 2t 1 3 6 et =erm 2 | R
a2 7 i 3 3 fft e & | wmhes

%gﬁg%ﬁwﬁagﬁmﬂagﬁﬂm&m

E22 142 7

() s fof, aftm

. (By5 foeeft, s

() 7 faft,
(D) 5 fft, aftor afem
(E) TwaTaa

36. mor AT 3 fere Frefafaa & & -
arkfen Torffy Iuere R 7
(A) e Torfifet
(B) Jeare oAt
(C) Hed Tt
Dy 3T &
(E) Irsenfém

* 1"’

37. WRA $1 2011 F FUE F FEN,
frfafiga ® 2 fopm =1 &1 S=EEn
Teed 17 =afaq wfa i fft 2 7
(&) fem
(B) I e

((Cf FEITES FeW
(D) fafa=sm
(E) FwaTEa

38. ®Ham-u-w g o m st
& Hhed 2 |
(&) &g e firen
(B) Frliere i
Cy T YERTE ST
(D) JeATH FEA BTl
(E) Frvanfaa
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39,

41.

42.

A sum of money doubles itsell in 4
years at compound interest. It will

amount to 8 times itself at the same

oo
E:}

rate of interest is
(A) 18 years
(B) 12 years
{C) 16 years
(D) 24 years
(E) Not attempted

Pointing towards a boy, Veena said,
he is the son of the only son of my

grandfather. How is the boy related to
Veena ?

(A) Uncle
(C) Father
(E) Not attempted

(B) Nephew
(D) Brother

In which year was the India’s First

National Park, the Hailey National
Park, established ?

(A) 1930 (B) 1932
(C) 1936 (D) 1939
(E) Not attempted

What is the necessary condition for a
deadlock to occur ?

(A) Mutual exclusion
(B) Hold and wait

(C) No preemption
(D) All of the above
(E) Not attempted

In which year Right to Information

(RTI) Act came into force ?
(A) 2004 (B) 2010
(C) 2005 (D) 2009

(E) Not attempted

CG - CHS24
39, Hﬂmaﬂhmmqaﬂﬁw}pﬂ
LU O QR W AR Ty
o ok & g e Ay
(A) 18 = =74
4B 12 = i UL
(C) 16 =4
(D) 24 =¥
(E) Fwnfiya
40. TH wEF H sin s @ gw A 3

W,ﬂ%ﬂiw#sﬁaﬁﬂimﬁam
ﬂmaﬂm%ﬁmmﬁﬁi&rﬂ;

(A) == (B) weftan
(©) fomr DF W é%’
(E) 3rsrfas

41. WRG FI Ve T I, et T Tz

oa o weanfem for T o 2

LIAT 1930 EBY 1932
(C) 1936 (D) 1939
(E) Fwanfiq
42, Tfaia (=) ufea 83 & fu smaws
I w=E
(A) HEH TFEEFEA
(B) &les Ug 32
() A Hfruew
Dy 35F mft
(E) SAwanfia
43. I F Hfwn (mﬂaﬂ}‘ai” ufam e
o ad @y g 7
iE"’ A (A) 2004 (B) 2010
L4€] 2005 (D) 2009
(E) FwfEa

-10-
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47.

what is binary code ?

(A) A system of representing
information using base-10 digits

@) A system of representing
information using base-16 digits

(C) A system of representing
information using only two digits:
0 and 1

D) A system of representing
information using alphabetic
characters

() Not attempted

Manas Tiger Reserve is located in
(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Assam

(D) Kerala

(E) Not attempted

Tickets numbered from 1 to 25 are
mixed up together and a ticket is drawn
at random. What is the probability
that the ticket drawn contains a prime
number ?

2 7
A3 (B) 55

9 11
C) — —_—
€ == D) 7=

(E) Not attempted

Which function is used to open a
binary file ?

CG - CH824

44, argAl w3 AR 7

(A) E@-lﬂﬁﬂmmm

51 sfafafiea &0 i v yoEf
(B) q@-iaﬁwmmw
%ﬁ% 1 ufififtes w01 6 o yoe
B2 o Faet 2 31 ¢ 0 3 1 H I
#th g w1 afafifie @ H o
ToTTeA!
[D]aﬂmmaﬂﬂaﬁlsqﬁﬂaﬂ%mﬁ
=1 gfafafire & F wF gone
(E) IrwaTfed
45. g g fod dfeme
(A) IR T
(B) HEA Wedl
ey FEq
(D) T
(E) AwEmad
46. 13 25 FHiTEHA fEhel 1 uh @Y fien
femn wman 2 3R u e Agfee® w9 @
FrepTen 91 2 | = s 2 T e
fepe § w FWT=E TET A ?
2 7 73
® 3 ®) 55
9 11
x-wfﬁ B =
(E) AwantEa

47. A0 ®EE H @A & foe FE e

(A) fopeny()
(B) open)
(C) fread() E4E
(D) fwrite() O
(E) Not attempted
k=

&1 w4 fepn e 2 7
(A) fopen()
(BT open()

(C) fread()

(D) fwrite()

(E) FAwartd

;I]’EJ?'H_'LI.‘J- 4
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48,

49,

50.

S2.

CG - CHS24
The chromatin that is more ]fll:::le;-,r 48, Tz ﬁi’lﬁﬁ:r Rl Ao o afis 3 Iy
packed and stains dark are ca ;qir( TR T 2 __ FEET |
(A) Heterochromatin (A) 2fetrprifes
(B) Euchromatic (B) Twmufes
(C) Chromosomal protein (C) ’I“'I'FEﬂ ff'cﬁﬂ
(D) Homochromatin D) Bremf
(E) Not attempted [ EJ (E) 3rormfirg
@2, |
If 4" - 41 = 48, then n" is equal to 49. IR 40 _ 401 - 48, @ nefoas e | 4
(A) 3 (B) 8 AA) 3 B)8 fy-14.4%
(C) 27 (D) 1 (C) 27 (D) 1
(E) Not attempted (E) Fwafag
Who was the founder of the Asiatie 50. vfimnfes qrEES * TS HF 4 7
society ? (A) 9T ums v
(A) Sir Thomas Erle e
(B) Sir William Jones By :ﬁ'a %’,““éa
(€) Lord Mount Batten © b % 2
(D) Lord Charles Rose (D) 7€ wrew T
(E) Not attempted (E) 3rwanfye
Six people A, B, C, D, E and F are | 51, nsaﬁaa,s,c,n,mﬂwqaqa
standing in a circle facing the centre. B 4 %z 61 3w o FE 2 | B. D 3i%
1s the immediate neighbour of D and c s = bai :
A is the immedi i C F1 F%heam vl 2 | A, E 3i C =
mediate neighbour of E and
C. F is to the right of D, e 93 2 | F, D % ard s 2 |
Who is the immediate neighbour of A A 3R F %1 w7y TS i E 7
and F ?
A) B B) C (4) B (B) o i
(€ D (D) E T;r (©) D ) E
(E) Not attempted E (E) swamfaa s R
T‘Iﬁalakeanaqranaisapa:tafhsola 52. uﬁmm%mﬁm
Bhatti Wildlife Sanctuary HANT F] TF Wy 2
(A) Brahma Sarovar Lake (A) &I W e -
(B) Karna Lake 3 (B) =i zfre
(C) Surajkund Lake L€l g 3w
(D) Badkhal Lake (D) ¥=@w 3
(E) Not attempted (E) 3mwanfam

-12.
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5.

55.

which type of register in a Central
Processing Unit (CPU) is responsible
for holding the current instruction
being executed ?

(A) Program counter

. \ BHE
(B) Instruction register - &l 2
(C) Memory address register

(D) All of the above
(E) Not attempted

A process of face to face interaction
petween the salesperson and the
prospective customer is referred as
(A) Personal Selling

(B) Advertisement

(C) Consultative Selling

(D) Transactional Selling

(E) Not attempted

Which of the following is not a product
strategy in Rural Marketing ?

(A) Branding

(B) Packaging

(C) Pricing

(D) After Sales Services
(E) Not attempted

According to population census 2011,
what is the percentage of Literacy in
Haryana ?

(A) 75.6

(B) 78.6

(C) 80.5

(D) None of the.above

(E) Not attempted

-13-

CG - CHS24

53. i frdw # Fenfaa w0 % fov dza
arfem afae (drg) # o s 1 T
foreiran g 8 7
(A) ST HIST
(B) FEgae frimeet

54, frar si Gwifaa TrEeh o e SAEH-TH
arasta &1 R 1 e A8 7
() safFaTa feshl
(B) fagm
ey e fesht
(D) T-ea gadt fah
(E) FAEE

g5, oy faque & Frefefiaa & @ sE-H

56. 2011 FIVFT % FFER ERATON J HETT
&1 ufeera fran 2 7

((8y75.6

(B) 78.6

(C) 80.5

(D) I & & Fr§ A

(E) 3wnfaa


Guest
Rectangle


B7.

58.

59.

61.

When do we celebrate International

Tiger Day ?
(A) June 29 (B) September 29
(C) July 29 (D) May 29

(E) Not attempted

Which of the following king wrote the
book ‘Amuktamalyada’ ?

(A) Akbar

(B) Raja Raja Chola

(C) Krishnadevaraya

(D) Chandragupta Mourya
(E) Not attempted

=] &[]
1
logx oz
If fixj=¢x-1" is continuous
k' 5 x=4
at x = 1, then the value of k is
(A) e (B) O
C) -1 (D) 1

(E) Not attempted

What is the population density of
Haryana as per the Census 2011 (in
per square km) ?

(A) 786

(B) 573

(C) 625

(D) None of the above

(E) Not attempted

Which of the following is considered
as challenges in Rural Marketing ?

(A) Rich Infrastructure

(B) Poor Literacy Rate

(C) Increase in availability of shops
(D) None of the above

(E) Not attempted

CG—CHSQ‘
57. & sl am feam w5 wm
(A) 29 54 (B) 29 fodan
ey 29 s (D) 29 1d
(E) 3renfia
58. ﬁqﬁtﬁiﬁﬁﬁmﬂmﬁ'w
g forddt ot 7
(A) e
EIREIREE G
AC) FOET
(D) Sz i
(E) stwarfea
logx
59. M fix)={=x-1° **! x =17 fig
E i ox=1
2 k® oM 2
(A) e (B) O
C) -1 (D) 1
(E) Fwnfaa
60. 2011 =l FVHT F FFHAR EEN F
FHEE v (vfa @ Gt §) fea 2 g
(A) 786
_{B) 573
(C) 625
(D) I94F | & Fr 78
(E) FASETiEa
61. 7w fawvm # frafefiga § @ fg <3
OHT A1 8 7
A FE IR zfn

Emlsygmma

ik (C) &I Iuererar § gy

[225 (D) 39 § & F¢ 7
(E) Iwarfaq
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63.

ankit started walking towards north.
After walking 30 m, he turned towards
left and walked 40 m. He then turned
eft and walked 30 m. He again turned
jeft and walked 50 m. How far is he
from his original position ?

(A) 50 m
B) 40 m
(B) e
(C) 30m i =
(D] 10 m

(E) Not attempted

Wwhat is the minimum age for becoming
2 member of Rajya Sabha ?

(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Not attempted

Rural demand is generally
(A) Continuous and Regular
(B) Seasonal and Irregular
(C) Permanent and Irregular
(D) Sporadic and Regular
(E) Not attempted

What was the sex ratio (Female per
thousand male) of Haryana as per
2011 census ?

(A) 879

(B) 943

(C) 989

(D) None of the above
(E) Not attempted

CG - CH824

62. Hﬁ-ﬂﬂﬁaﬂ'{mqﬁmﬁ|
mtﬁaaﬁﬁ%ﬁm,ﬂmmﬁm%
3ﬂ14nﬁﬂﬁm?|ﬁnaﬁmw

?:’nﬂ'{:}t}ﬂ’fﬂﬂﬁmﬁlﬂ'ﬁfw

a-rd’faﬁtwﬂ%aﬂtsuﬁztaﬁm%n
Hﬁmﬁ@fﬁfﬁﬁﬁﬁ;ﬁﬁ?% ?

(A) 50 Hi& mw
A7 e

(c) 35 a4
(D) 40 99
(E) Fwaa

64. ITEfOT W F AR WA R 7
Wsﬂtﬁuﬁm
(B) Hret 3t rfafia
E{C}@Iﬂﬂ?ﬂ‘:&lﬁﬂﬁlﬂ

“ﬁqn;ﬁmgﬁ&ﬂtﬁuﬁa

65. zmlaﬁm%.msf’@ﬂﬂm
férmara (e o gesi W AfEe) 0 7

|LIX879
(B) 943
(C) 989
(D) 394 § | I TE
(E) A9
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Which of the following is not a problem | gg, urfio A i f s & 2 "

in Rural Markets ?

e 7# 2 7

(A) Low level of literacy WH‘I&T{H‘I En| F-I‘:[ =

(B) Low per capita income (B) sfa =afda smmq m

(C) Well developed market LS 33t e 3 ferenfera amame
(D) Logistic problems %g (D) = Tl

(E) Not attempted = (E) 3rwafim

Who was the first Mughal ruler of 67. YRA # gzay T 9115 19 o7 7
India ? (A) 3TFaT

(A) Akbar LB
(B) Babur aﬁi
(€) Humayun C) alk §
(D) Shah-Jahan (D) WB-7&l

(E) Not attempted (E) 3Awnfae

Approximate change in the volume vV | 68. S T 3% "gH T x Ht. & 99 F 7T
of a cube of side x meters caused by

1 i he side by 39 LS ?
Increasing the side by 3% is -

(A) 0.09°m®  (B) 0.03xm? A) 0.09x'm>  '{BJ 0.03x’m’
(C) 0.06x*m? (D) 0.04x*m?* (C) 0.06x*m? (D) 0.04x*m?
(E) Not attempted (E) Jrwarfe

Which among the following dance 69. frfafes d @ zfamon & fag I 4
form of }-Imyma marks the sowing of F1 FOA 1 4T T fafza 27
the Rabi crop ? ‘

(A) Ghoomar (B) Jhumar (A) T AB] I

(C) Lohri (D) Loor (C) wred (D) T

(E) Not attempted (E) 3TSmHa

If a + 1, 3a, 4a + 2 are in Arithmetic 70. qﬁﬁ+1.33,4a+2m’}"ﬁﬁiﬁ.?ﬁ
Progression, then the value of ‘a’ is ‘a’ T HHE #7712 7

a) 0 B) 2 ; ® 0~ gz
(©) 1 (D) 3 "-“”L g (C) 1 ~ 1B B 7
(E) Not attempted it (E) 3rsiéa

Where did the Morbi bridge tragedy | 71. el qe1 &Teat el g3 7

occur ? A) F T

(A) Kerala (B) Gujarat %’g (A : L

(C) Uttarakhand (D) Uttar Pradesh |E2<1 (C) ITrde (D) I wew
(E) Not attempted (E) srsmféa
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74.

75.

(n I

C
pa1 6 8 4

—
::gﬂdi“ﬂ in a single line, facing phone
booth. E 18 somewhere ahead of F.
There is exactly one person standing
petween € and G. D is immediately
pehind A. F is behind both B and
p. IfD and C are fourth and fifth in
line, respectively, then which of the

CG - CHS24

ﬁ v 3 Fl 1 [
en people A, B, C, D, E, F and G are ‘%2. ara =afaa A, B, €, D, E, F 3ftt G v%

ﬁﬁtﬁm@aﬁmﬂ@gﬁll'ﬁjﬁﬂ

&A1 s & | C 3t G % o o A v
ﬁwiln.h%m'ﬂﬁ%‘“”
s p 21 & 3 ® | afk p 3 C F:
e i 9 3 aterd e #, A1
i & Fa-w we B A 7

ollowing must be true ?
:A] A is first (A) A TH k4 2
B) B is first (B) B 94 2 {i;
r-::T|Fiss'u:th ) Fw% g
(D) F is seventh D) F atidt ;
(E) Not attempted %Ig (E)

(OB

Wwhat is the per-capita income of
Haryana (at constant price) as per the
Economic Survey 2023-24 (Advance

Estimates) ?
(A) X 1,04,550

B) ¥ 1,85,490

(C) T 2,57,840

(D) None of the above
(E) Not attempted

Forests department of Haryana runs
Pheasant Breeding Center in

(A) Kurukshetra (B) Bhiwani
(C) Panchkula (D) Pinjore
(E) Not attempted

Which one of the following is not a

Rural Marketing Mix ?
(A) Product (B) Promotion [ ¢
(C) Price (D) Package -E:: i
(E) Not attempted

-17-

73,  sfis wdew 2023-24 (W FFEH) F

sram gfeamn & wfa =afad arfds #=
(feR e d W) TR 7

(A) T 1,04,550

(B) ¥ 1,85,490

(C) ¥ 2,57,840

Dy 35T # & 1S T

(E) Hwafad

g &1 a7 faum o e g
&z Jermar # |
(A) FEE (B) firarrf -

(C) =T D) T
(E) Fuaféa

Frafafaa § @ S-m1 gnfio faque g
TR 7

(A) IeTE - 8] =R
(C) He3 - (D) e
(E) 3Tmfag
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76.

7.

78.

The maximum area of 8 rectangle
inscribed in the circle

(x+ 1)+ (y-3)2=641s

(A) 64 sq. units

(B) 72 8q. units
(C) 8 sq. units
(D)

(E)

128 sq. units

Not attempted

Which of the following state introduced
‘Chirayu Health Insurance’ Scheme
in India ?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Kerala

(D) Haryana

(E) Not attempted

What is the limit of the annual turnover
for MSME-Micro enterprises ?

(A) < B crores

(B) < 5 crores

(C) < 10 crores
(D) None of the above
(E) Not attempted

What is the age limit cap for joining
Mukhyamantri Kisan Evam Khetihar
Mazdoor Jeevan Suraksha Yojana in

Haryana ?

(A) 10 years to 60 years
(B) 20 years to 59 years
(C) 15 years to 75 years
(D) None of the above
(E) Not attempted

76.

E:I‘

77.

CG - CHS24

T (x + 1) + [y - 3)? = 64 F i 3fg
f o vk s i A 8

(A) 64 a1 3=7d
(B) 72 a1 318
(C) 8 T 3rE
(D) 128 =t 3=rd
(E) Frwafea

v i freferfs # & frm oa 3 fm
e dm’ a1 $i R 7

(A) I T

(B) HeT weH

(C) T

By sRam

78.

(E) HA9HTHd

uHUHTTS -gE9 JgEi & fo arfie wwEn
Hrdman g 7

(A) < 8FHZ

(B) < 5%

ey < 10 F13

79.

(D) 3TF # & Fré TH
(E) Frwafa

g # gedsh feam v wde g9y
Sfraa guan a8 e 29 % forn 91
i = 2 7

(A) 1099 ¥ 60 94

. JB) 2094 § 59 99

-18-

(C) 159% & 75 o

(D) 39 o & Fré 7&
(E) Hgafaa
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80.

82,

_isused in the manufacture - P
of paints and lacquers. B g
(A] Poly Vinly Chloride (PVC) (A) wieh famrée Femres ()
(B) Bakelite (B) HFHeATee
(C) Urea formaldehyde resin ey gfen widefearz tfm
(D) Glyptal (D) ferea
(E] Not attempted (E) HuATd
Consider the following statements about | 81. sitenfire IedTEA W (smézTédt),
index of Industrial Production (ITP), afrarom ¥ ot # Prafafaa Fort 71 Fm
Haryana and choose the right option
given below : ﬁaﬂt:ﬁ‘éﬁqmﬁﬁﬁ?ﬁqaﬁﬂil
1. The IIP is presently being prepared 1. FEATEH # 9amE § 05T ° it
in the State by the Department of (e e . &
Economic and Statistical Affairs, 0] N 3
Haryana. .E E' anl %"TR- ﬁ-‘ﬂ'l’ 1 T8l % |
2. The present base year for 9. mﬁ;ﬁmﬁfg{qm e OIRGL
calculation of IIP is 2021-22. g
(A) Only the statement 1 is correct 202122
(B) Only the statement 2 is correct (A) e Fod 1 T 2
(B) Faw FY 2 FH B

(C] Both the statements 1 and 2 are

incorrect
(D) Both the statements 1 and 2 are

correct
(E) Not attempted

Which Part of Indian Constitution
deals with the Fundamental Rights ?
(A) Part I (B) Part Il

(C) Part III (D) Part IV

(E) Not attempted

The word ‘Cigaritis meghamalaiensis’

1s related with

(A) Butterfly (B) Tiger 5@5‘
EYE

(C) Ant (D) Monkey

(E) Not attempted

-19-
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s o ae

() FoA 1 3R 2 gl e &
D) HuA 1 3 2 G wE &

(E) Fwanfaa
82. T TR T R8T 9 e
Hfrwrl & defaa 2 7
(A) | I (B) | II
ey | 1 (D) 9FT IV
(E) ITsafEd i
83. ‘fymfifra samesuiay’ we
o Hafyd 2 |
dﬂﬁlﬂ?ﬂ (B) &g *
ey =é (D) FeX
(E) Fwamad
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84,

85.

86.

]{ .r".q ¥, 1]
J

”‘."l Iﬁ}. O
A. Z. N, M, O and P are members of a
family. There are two married couples,
N is a curator and the father of O, P
is the son of the daughter of A, who
is a banker. O is the granddaughter
of Z. who is an architect. There are
two unmarried students in the family,
There is one teacher in the family
and banker is her father. Who is the
husband of M ?

(A) P
(B) N
(C) Z
(D) A
(E) Not attempted

()

As per the Pradhan Mantri Fasal Bima
Yojana (PMFBY), how much premium
(in percentage) should be paid by the
farmers for the Kharif and Rabi crops
respectively ?

P ¥ &

(A) 2% and 1.5% CRkio]
(B) 5% and 2%

(C) 1.5 % and 3%

(D) None of the above

(E) Not attempted

As we go from the equator to the poles,
the value of g

(A) Remains the same

(B) Decreases

(C) Decreases upto a latitude of 45°
(D) Increases

(E) Not attempted

CG - CHS24

84. A, Z N, M, O 3l pus ufran % maey
21 3 faafem 12 # | N v gt 2 A
omfmd ip AafaA a2, A
IR |0, zH a2, 5t v fEa
® | uftaw # @ sfaanfea o # | ofem
H o s 2 v ¥ m frr 20 M

wofawRmg? z
(A) P /’W
.;Eltfﬂi N ﬁﬂwﬁx’?"
BN ©Z>» g
(D) A I{Pf.eﬁ:v
(E) s ®

85. WHMWH ®HA #m1 Ire (fromusdtan)
F IER, @iw 3R @ wEen & fow
el gra swaw: e diftm (sfaeE 4)
&1 graF faan s =nfae 7

R 2% 3T 1.5%
4B] 5% 3T 2%
(C) 1.5% 3 3%

(D) 39T # | Hr§
(E) 3rwanfaa

86. H-H T YWE W@l A ¥di w 9w F, g
=hl "4
(A) B TEd 2
LABJ He 2
(C) 45° % W& 7% Tear 2
(D) =g 2

(E) 3A5anfaq
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87. In which year was National Bank for
Agriculture and Rural Development
(NABARD) established 7
(A) 1999
(B) 1982
(C) 2000
(D) None of the above
(E) Not attempted

88. How many pairs of ribs are present in
the human body ?

{A) 10
(B) 11
(C) 12
(D) 13
(E} Not attempted

' 89. Haryana State Industrial and

| Infrastructure Development
Corporation Limited (HSIIDC) was
established in the year
(A) 1967
(B) 1976
(C) 1982
(D) 1994
(E) Not attempted

A

90. Some students line up in a queue in

which Ashish stands 15" from the left
and Sachin is 17" from the right. If
they interchange their places, Sachin
would be 15" from the right. How
many students are there in the queue ?

(A) 21

(B) 22
(C) 29
(D) None of the above ==
(E) Not attempted 'E =

87.

aeda FHfa I awhion fowm &% (g
#1 xern fra ad 61 mg o o
(A) 1999

_4BJ 1982

(C) 2000
(D) 374 & & IS 7
(B) sronfea

mra st A gaferat s fFA IR e 2 7

AT 10

89.

(B) 11
(C) 12

(D) 13

(E) 3wamad

i = s vg sEEE faEm
fm fafies (avasméandds) & =
frmad g 7

(A) 1967

(B) 1976

(C) 1982

2] 1994

90.

(E) 3rvamed

5 BE U Hall § @< & (a8 JeY 91
¥ 154 ¥H W 2 3k gfem ed | 173
HE W 2 | 3§ 39 E ged o, al
Hh'—rmﬁﬂlsﬁwﬂmm Hﬁmq
fraaBm & 7

(A) 21 ¢

(B) 22
I 7

L4829 'S

(D) 35 & & H1§ A&
(E) Twaaa
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English Language =t v
91. Choose the right option to form a| 96. ‘@’ 1 fasim mwe_ = f
meaningful sentence. : Hefra
was/performance/impressed/with/ 7§ A)
quite/his/I . E] . (B) Fem
(A) His performance was quite T
impressed with 1. : ' EL{QT
_iB) 1 u:;s quite impressed with his (D) FEH
performance. _
(C) I with his performance was quite (E) swanfia
impressed. :
(D) His performance with | was quite 97. &Y % fohan e & 7
impressed. (A) 35[
(E) Not attempted
92. Choose the correct meaning of the L4B) H
following idiom and expression. (C) 91
Open secret.
_AA] Known to all (D) bl
(B) Of no use (E) 3wanfaa
(C) A useless person
(D) Full details 98. fFmFqmeus __ wEdE |
E) Not attempted
il i Ay o
93. Choose the correct indirect form of the o
given word sentence. ®)
He said “who is your father” ? (C) ¥ gy
(A) He asked me who was my father.
(B) He asked me that who is your (D) fenfaa
father, (E) 3rvamaa
.AC) He asked me who my father was.
(D) He asked me who my father is. 99, ‘H‘g' weg &+ qet 3 &1 =594 ﬁﬁ;rq |
(E) Not attempted @A) gaft
94. Choose the correct spelling of the given
word. & \AB) Eq
devalop. (C) el
L4A) develop
Eg} gavalap (D) =5
evelup sy
(D) None of the above (E)
(E) Not attempted 100. St Hfavw J i, 38 7 3
95. Choose the correct answer after %8
making necessary corrections. |:.!':| El LAA) Eﬁi“
He went there by foot. (B) g™
AT He went there on foot.
(B) He go there on foot. (C) T=h
(C) He went there in foot. « (D) 75‘5?'
(D) He went there for foot.
(E) Not attempted (E) Hwafag
' D -22-
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